	
	           Disagree                            Agree

	This patient presents with a diagnostic challenge
	               1     2     3     4     5     6      7

	This patient cooperates with treatment recommendations
	               1     2     3     4     5     6      7

	This patient has a stable, supportive social network
	               1     2     3     4     5     6      7

	This patient has consistent, adequate insurance coverage
	               1     2     3     4     5     6      7

	
	

	Compared to patients with similar diagnoses, how would you rate this patient’s overall utilization of healthcare resources (clinic visits, ER visits, phone calls, lab tests, etc.)?


	                            Too low                           About right                          Too high

	                                 1            2             3             4             5            6             7
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